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Question Let m = "Juan is a math major,"
¢ = "Juan is a computer science major,”

g = "Juan's girlfriend is a literature major,” E E ﬁ ﬁ

h = "Juan’s girlfriend has read Hamlet," and

t="Juan's girlfriend has read The Tempest."

Which of the following expresses the statement "Juan is a computer science major and a math major, but his girlfriend is a literature major who
hasn't read both The Tempest and Hamlet."
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Question Translate the statement Jz( K (z) » H(z)) into English where K (z) is "z isa driver” and H(2) is "z wins® and the domain consists of all people. Juiznay
choose the correct answer(s)

MNaotyet Ru |ES

answered

Markest out of

200 - ;
Select one: New headin

%" Flog guestion

' a Every oneis a driver and every one wins

e
"I

v chaice Time left 0:49:44

® b Some winning people are drivers
c. There exists some one that is a driver or wins.

) d. There exists a persan such that if he is a driver then he wins. Finish 3




PSUT E-LEARNING
-

Discrete Mathematics (1) - All sections

Question To prove that if n is an odd integer, then 5n + 2 is odd, we assume that n =
2k+1
Mot yet
answered then 5n + 2 =
Markest out of
A5 10k+7
%" Flog question ,therefore 5n + 2 =
2(5k+3)+1
and hence 5n + 2is
odd

<UIZ NEVIgatiorn

Rules

New heading - -
i i 1
ENEEEE

Firish abtermat

Time left 0:32:35




Discrete Mathematics (1) - All sections

Question

Hot yet
answEred
Marked out of
2,00

T Flagguestion

P5SUT E-LEARNING

The statement ~p — (g — r) is logically equivalent to.
alg—(pvr).
bl p— (pvr)
clp—igvr)
dig—igvr)

Answer;

Rules

B GOy
AP

Time left 0:22:58



L

Computer

mpropedies

etk Open
Tatation Settings TR Manage

Syatem

PSUT E-LEARNING

Discrete Mathematics (1) - All sections

QU estion Write the contrapositive of the conditional statement "The train runs [ate on exactly those days when | take the train” by using "unless
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